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Guess Paper – 2012
Class – X
 Subject – Mathematics
(Trigonometry and triangles)
Maximum marks: 40
1.   If[image: image2.png]15 cotf




, evaluate
[image: image3.png]U +sinf)(1—sin6)
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2.    In [image: image5.png]AABC



, right angle at B,if  [image: image7.png]


 , find the value of
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I. [image: image9.png](sin AcosC + cos Asin ()




II. (cos A cos C-sin A sin C)
3. [image: image11.png]L
Ifcos6 =5



  , find the values of all T- ratios of [image: image13.png]


.
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4. Evaluate:                           [image: image15.png]2c05260°+ 35in?45°— 35in?30°+ 2c0s%90°





      

(2)
5. Prove that:










(6)
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6. Without using trigonometric table ,evaluate the following:




(4)
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7.    In the given figure, 
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         Prove that  [image: image23.png]AACB~ADCE



 .

[image: image24.png]



(3)
8. Given a ∆[image: image26.png]ABC



 in which [image: image28.png]


 and[image: image30.png]AD 1L BC



. Prove that[image: image32.png]AD?*=BD.CD



.                                      (3)

9. Prove that in a right triangle the square of the hypotenuse is equal to the sum of the squares of the 
               Other two sides                                                                                                                                       
                            Using the above theorem, do the following:

                  If ABC is an equilateral triangle with AD[image: image34.png]


BC, then AD2 =3DC2. 




(5)

10. In triangle ABC, AD[image: image36.png]


BCand BD=3CD. Prove that 2AB2=2AC2+BC2.




(3)

11. If [image: image38.png]tanf + sinf = m and tanf — siné = n



,show that [image: image40.png]


     


(3)

12. Prove that the ratio of the areas of two similar triangles is equal to tha ratio of squres of their corresponding sides.
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